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In some of the following logic TABLE is coded as BUEFM
and PRAYS is coded as SQDTZ, following the same logic
MINOR will be coded as

A TeTRad e dehi § TABLE %t BUEFM %wﬁﬁﬁeﬂ
SR AT & 3T PRAYS St SQDTZ &% &4 § hifea ferat waT
2, FHT ek ST ATEVT HTd §C MINOR ! 38 TR hifSd

femaT ST

~a) JNQSP
b) JPNSQ
¢) PNSJQ
d) PSNQJ

e) None of the above



How many pairs of letters are there in the word
‘PERSUADE?’, each of which have as many letters between

then in the word as they have between then in the English -
alphabet?

s 'PERSUADE' ¥ 31&li o feha Siie 2, forh & weder o |
E%hg% 3 S 3aY B oTeR S R ofieh avtHTeT § 3T
?

a) one
b) two
¢) three
d) four

e) five



TIN POD JET CAT GUN

If all the letters in each of the words are arranged
alphabetically (within the word), how many words
will remain unchanged

aﬁuﬁsﬁm%vﬁr 3T&I hT JUTIHSHA W (155 h
i) saaftera forar s, a‘rﬁlﬁlﬁm—c{mﬁaﬁﬁ@ﬁ"

a) One

b) Two
¢) Three

d) More than three
e) None



TIN POD JET CAT GUN

According to English alphabetical series how many
letters are there between the 1st letter of the 2nd
word and 2nd letter of 5th word ?

TS FUTHTEAT SEEAT o STTHR T I155 o UgeT HeR
3R U 9167 o GER 37eR o S feha o8 2

a) Two
b) One
¢) None
d) Three

e) More than three



TIN POD JET CAT GUN

If 1st letter (in-all the words) are changed to the
previous letter of the English alphabetical series, how
many words will have more than one vowel ?

qfg U TUTHTAT ST o Ugel AR (AHT I H)
1 fUDer 7R o F2ct fagT =, a‘rﬁmﬁmﬁ‘rﬁqmﬁ
3TTereh TR B2

a) One
b) Two
¢) Three

d) More than three
e) None



TIN POD JET CAT GUN

If all the vowels (in all the words) are changed to the
next letter of the English alphabetical series, how
many words will form meaningful words?

aﬁ:mﬁwﬁ (Tt IToST H) hT SIS TUTHTAT HTAT 6
aaa%ﬁa&r{ﬁaaﬁﬁmm a‘rﬁmﬁmmﬁmm

a) One
b) Two
¢) Three

d) More than three
e) None



TIN POD JET CAT GUN

If position of the 1st and 3rd letters of all the words
are interchanged and then the words thus formed are
arranged in dictionary order from left to right, which
of the following will be second from left ?

afe Tl EET o Ugel 3T dT6 378 6T feerfer w1 amod
- Ieer AT AU 3R TR 39 YRR 9 ITeST <Rl STeqehIvT
A | 910 § 10 sFarked forar smg, af Feafafaga a o -
ﬁ-—rmmﬁaﬁwm@m?
a) SAT
b) DEN
¢) ROD
d) PIN
e) FUN



Six boxes i.e. A, B, C, D, E and F of different colors i.e.
Orange, Red, Black, Yellow, Pink and White are placed one
above another but not necessarily in same order. Box C is -
placed just above the orange colored box. One box is placed
between A and orange colored box. Three boxes are placed
between A and pink colored box. Two boxes are placed
between D and E. Red colored box is placed just below A.
There are as many boxes placed above red colored box as

~ below E. E is not Orange colored box. Black colored box is
placed just above yellow colored box. F is placed above B.

STATT-STT T ITAT AR, AT, SHTAT, UTeT, wa?aﬁ’wﬁa—q'
%swa‘q"@rmﬁq,a%ﬁg"réaﬁ'{ U T TR
ﬁﬁmaﬁﬁﬁsgﬁmﬁ@lmcaﬁwﬁ %arram
% BTk TUX TET AT 2l A 3T AT §7 % fesa & oftwr ves fEaa
T 74T B Aaﬁ?nﬁm?wé;%ﬁé;aﬁaaﬁ-—r%%r Trq%

D 3R E & &= af feed é%%lmﬁwaﬁr%mAésaﬁm
ﬁ%ww%lmmés & FW 3 &1 feea B ™

o el 81 E AT @1 okt fesat €1 g1 et T okt fesan g &
o Te=a & St S WAt AT 21 F Y B o 0 &1 =T 2




Six boxes i.e. A, B, C, D, E and F of different colors i.e.
Orange, Red, Black, Yellow, Pink and White are placed one
above another but not necessarily in same order. Box C is-
placed just above the orange colored box. One box is placed
between A and orange colored box. Three boxes are placed
between A and pink colored box. Two boxes are placed
between D and E. Red colored box is placed just below A.
There are as many boxes placed above red colored box as
below E. E is not Orange colored box. Black colored box is
placed just above yellow colored box. F is placed above B.
How many boxes are placed above F?

a) Two
b) Three
¢) Four
d) One

e) - None of these



Six boxes i.e. A, B, C, D, E and F of different colors i.e.
Orange, Red, Black, Yellow, Pink and White are placed one
above another but not necessarily in same order. Box C is-
placed just above the orange colored box. One box is placed
between A and orange colored box. Three boxes are placed
between A and pink colored box. Two boxes are placed
between D and E. Red colored box is placed just below A.
There are as many boxes placed above red colored box as
below E. E is not Orange colored box. Black colored box is
placed just above yellow colored box. F is placed above B.
Which of the following box is Yellow colored?

a A
b) C
¢) E
d D

e) - None of these



Six boxes i.e. A, B, C, D, E and F of different colors i.e.
Orange, Red, Black, Yellow, Pink and White are placed one
above another but not necessarily in same order. Box C is-
placed just above the orange colored box. One box is placed
between A and orange colored box. Three boxes are placed
between A and pink colored box. Two boxes are placed
between D and E. Red colored box is placed just below A.
There are as many boxes placed above red colored box as
below E. E is not Orange colored box. Black colored box is
placed just above yellow colored box. F is placed above B.
Which of the following color is box F has?

a) Orange
[ 1) I 111 ¢

¢) Red

d) Yellow

e) - None of these



Six boxes i.e. A, B, C, D, E and F of different colors i.e.
Orange, Red, Black, Yellow, Pink and White are placed one
above another but not necessarily in same order. Box C is-
placed just above the orange colored box. One box is placed
between A and orange colored box. Three boxes are placed
between A and pink colored box. Two boxes are placed
between D and E. Red colored box is placed just below A.
There are as many boxes placed above red colored box as

~ below E. E is not Orange colored box. Black colored box is
placed just above yellow colored box. F is placed above B.
Four of the following five are alike in certain way based
from a group, find the one which does not belong to that
group?

a) F-Yellow
b) E-Orange
¢) B-Black
d) C-Red

e) D-White



Statements:

All poles are skies.

Some skies are boxes.

Some lanes are poles.

No box is a bottle.

Conclusions:

I. Some bottles being lanes is a possibility.
II. Some boxes are not poles.

II1. No bottle is a lane.

a) None follows

b) Only I follows

¢) Only II follows

d) Only III follows

e) Only either I or III follows



Statements:

Some Kkites are umbrellas.
Some umbrellas are sticks.
Some pens are Kites.

All sticks are caps.
Conclusions:

I. Some umbrellas are caps.
II. Some caps are sticks.

III. Some sticks are pens.

a) Only I and II follow
b) Only I and III follow
¢) Only II and III follow
d) AllL II and III follow
e) None of these



Statements:
Some trees are flowers.
©OSBI All flowers are seeds.
Some trees are leaves.
Some leaves are branches.
Conclusions:
I. All branches being flowers is a possibility.
II. Some leaves are seeds.
III. Some leaves not being flowers is a possibility.

a) Only I and II follow
b) Only I and III follow
¢) Only II and III follow
d) AllL II and III follow
e) None of these



Statements:

Some viability are biggest.
Some issue are viability.
All biggest are books.

All books are rods
Conclusions:

I. All rods are viability.
II. Some books are biggest.
III. Some biggest are issue.

a) Only I and II follow
b) Only I and III follow
¢) Only II follows

d) AllL II and III follow
e) None of these



Statements:

Some cars are days.

Some roads are nights.

All days are buses.

Some buses are cars.

Conclusions:

I. Some nights not being buses is a possibility.
II. Some nights are cars.

III. Some days are not buses.

a) None follows

b) Only I follows

¢) Only II follows

d) Only III follows

e) Only I and II follow



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
‘Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same-
direction.

A HARFA,B,C,D,E,F,G 3R H Uk SfaT UfRF A IS 21 STH A
Wwwwzﬁw%mﬁsﬁtrwwﬁwzﬁaﬁ?%m‘rﬁ
aAfereR ATET SuThAT T T ek 21 29 # T 81 A, D o st i
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A 3 TS 3 3 SARRTT T T 36 ETE 3R o SRR SR
¥ U 3T B B, G 3 AT 3T T0 T U BT § S A1 Al
qus%”rﬁwfr%l C sifaw B ux 7 Set 2| Sifew SR W Ser
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Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits immediate right of C?

a) G
b) B
¢) A
d E
e) F



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Four are the same in a certain way thus forms a group. Which
among the following does not belong to the group??

a) B
) S |
¢) D
d G
e) A



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

How many persons sit to the right of E?

a) Three
b) Four
¢) One
d) Five
e) Six



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits second to the right of G?

a) E
b) D
¢) F
d H
e) C



Eight persons A, B, C, D, E, F, G and H are sitting in a
horizontal row. Four of them face north while rest face south.
Not more than two adjacent persons face in the same direction.
A sits second to the left of D. F sits to the immediate left of H. D
and F are adjacent to each other. C is not adjacent to A but
faces south. The number of persons to the left of A is one more
than the number of persons to the right of him. B sits second to
the left of G and both face in the same direction. C does not sit
at extreme end. The person at extreme end face in the same
direction.

Who sits immediate left of G?

a) B
b) C
¢c) D
d F
e) H



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
“centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

e sth - E, F, G, H, I, J, K 31 L Ueh oI o I 3T 0 30 WSS
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Ww%ﬁﬁaﬁHﬁasﬁaﬁ'{n@aﬂw% Y J ST 0 s

TR J, Ha;avs‘aﬁ'{aﬁ{w %lGﬁaaﬁﬁﬁqu?ﬁﬁ:lﬁ
wgaca’ﬁ%ﬁa%mﬁ%l ,K T Fehea® UgiEt 1 H & gt
fenean ugifemt o1 7@ H % ek faudia fon & 21 E &1 9@ st
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Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
“centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

AR AR - E, F, G, H, I, J, K 3T L Ueh I o TR 37T TAT 2 0T
TS 2, ﬁﬁquﬁﬁﬁgﬁmﬁﬁlwﬁﬁwwwﬁﬁsﬁaﬁ?%
Fafeh 5 T T 8 ¥ STe ST 30T 21 L, K 3 aT3 & e €T 0T 33T
21 K 3T L 3141 o1 7 amgt 6l 3T 71 H, K 3R L &1 Fehean uge



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

Who amongst the following are not facing towards the centre?

a) E,FandlI
b) F,GandJ
¢) H,KandL
d) G,IandJ

e) None of these



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

Who among the following is sitting exactly between F and K?

a) J
b) I
¢) E
d G
e) H



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

What is the position of G with respect to E?

a) 2nd to the left
b) 3rd to the right
¢) 4th to the left
d) 2nd to the right
e) Sth to the right



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

How many persons are sitting between H and K when counted in a
clockwise direction from H?

a) Three
b) Four
¢) Five
d) Two

e) One



Eight persons — E, F, G, H, I, J, K and L are sitting around a circle at
equidistance but not necessarily in the same order. Some of them are
facing towards the centre while some others are facing outside the
centre. L is sitting 3rd to the left of K. Both K and L are facing
towards the outside. H is not an immediate neighbor of K and L. J
faces just opposite direction of H. (It implies tHunt if H is facing
towards the centre, J would face outside the centre). J is sitting 2nd
to the left of H. Both the immediate neighbours of G face just
opposite direction of G. E is an immediate neighbour of K. Both the
immediate neighbours of H face just opposite direction of H. E faces
towards the centre and he is an immediate neighbour of both K and
I. I faces towards the centre.

Which of the following statements is not true regarding the given
sitting arrangement?

a) L is sitting exactly between G and I.
b) His sitting 3rd to the right of K. |
¢) F and I are sitting just opposite to each other.

d) E is sitting 3rd to the left of G.
e) Allare true
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769 853 682 378

Q.1. If all the numbers are arranged in descending order, what will be the
difference between the second digit of third number and first digit of

second number?

1)2 2)1 3)3 4) 4 S) None of these



769 853 682 378

Q.2. If one is subtracted from the first and second digits of each number. What
will be difference between the first digit of the highest number and the
first digit of the lowest number?

p: ~ 2)3 - 3)4 4)5

S) None of these



769 853 682 378

Q.3. Ifin each number the first and the second digits are interchanged, which
number will be the second highest number?
853 2) 769 3) 378

2y 682 S) None of these



769 853 682 378

Q.4. Ifin each number, the first digit is replaced by the third digit, second digit
is replaced by the first digit and third digit is replaced by the second digit
then which number will be the second highest?

378 2) 769 3) 682

4) 428 S) None of these



769 853 682 378

Q.4. Ifin each number all the digits are arranged in ascending order, which
number will be the second lowest?
428 2) 682 3) 853 4) 378

S) None of these



